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TRƯỜNG ĐẠI HỌC VĂN LANG 

ĐƠN VỊ: Khoa Tài chính – Ngân hàng 

 

ĐỀ THI VÀ ĐÁP ÁN 

THI KẾT THÚC HỌC PHẦN 

Học kỳ 3, năm học 2023-2024 

 

I. Thông tin chung 

Tên học phần:  Anh văn chuyên ngành tài chính 2 

Mã học phần:  DTA0060 Số tin chỉ: 3 

Mã nhóm lớp học phần:  233_DTA0060_01 

Hình thức thi: Trắc nghiệm kết hợp Tự luận Thời gian làm bài:  75 phút 

Thí sinh được tham khảo tài liệu: ☒ Có ☐ Không 

II. Các yêu cầu của đề thi nhằm đáp ứng CLO 

(Phần này phải phối hợp với thông tin từ đề cương chi tiết của học phần) 

Ký 

hiệu 

CLO 

Nội dung CLO  

Hình 

thức 

đánh giá 

Trọng số CLO 

trong thành phần 

đánh giá (%) 

Câu 

hỏi 

thi số 

Điểm 

số 

tối đa 

Lấy dữ 

liệu đo 

lường 

mức đạt 

PLO/PI 

(1) (2) (3) (4) (5) (6) (7) 

CLO 1 

Giải thích những từ 

vựng, thuật ngữ cơ 

bản của ngành Tài 

chính ngân hàng 

bằng tiếng Anh 

Trắc 

nghiệm 
25% 

Câu 

TN 1- 

18 

2.52  

CLO 2 

Vận dụng kiến thức 

về ngữ pháp, chức 

năng ngôn ngữ, từ 

vựng để giao tiếp 

(văn nói và văn 

viết) trong các chủ 

đề ngành Tài chính 

Ngân hàng; 

Trắc 

nghiệm + 

Tự luận 

25% 

Câu 

TN 

19-25 

+ câu 

hỏi tự 

luận 

2.48  

CLO 3 

Vận dụng  tư duy 

phân tích để đọc 

hiểu được và nắm 

được ý chính các tài 

liệu chuyên môn về 

Tài chính – Ngân 

hàng bằng tiếng 

Anh 

Trắc 

nghiệm 
25% 

Câu 

TN 

26-43  

2.52  

CLO 4 

Giao tiếp bằng 

tiếng Anh (viết và/ 

hoặc nói) trong 

những tình huống 

Trắc 

nghiệm 

+Tự luận 

25% 

Câu 

TN 

44-

2.48  
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tiêu biểu ở môi 

trường làm việc 

thuộc ngành Tài 

chính -Ngân hàng 

50+  

câu 

hỏi 

tự 

luận 
 

III. Nội dung câu hỏi thi 

PHẦN TRẮC NGHIỆM (50 câu _ 0,14 điểm/ câu) 

 

……means to subtract something from something else  

A. detract 

B. plus 

C. add 

D. multiply 

ANSWER: A 

 

A stock broker cannot work in the banking sector at the same time as there is a 

huge ………………of interest. 

A. conflict  

B. currency 

C. direction 

D. commission 

ANSWER: A 

 

There is much concern about the complete lack of price ……. at the moment. 

A. stability 

B. revenue 

C. depression 

D. hyperinflation 

ANSWER: A 

 

……means the current assets minus current liabilities  

A. working capital 

B. equity 

C. capital reserve 

D. cost of sales 

ANSWER: A 

 

Which countries form the Association of South East Asian …….? 

A. Nations 

B. Organizations 

C. Countries 

D. Unions 

ANSWER: A 

 

A claims …….will arrive by 10am this morning to look into your claim. 

A. adjuster 

B. agent 
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C. indicator 

D. creditor 

ANSWER: A 

 

Is the following sentence correct? Are the above average losses due to increasing competition 

in the market? 

A. Correct 

B. Incorrect 

ANSWER: A 

 

…..is one of the bank’s local offices 

A. Branch 

B. Breach 

C. Fiduciary 

D. Corporation 

ANSWER: A 

 

A(n) …….is the complete control over a particular product by one company. 

A. monopoly 

B. economy 

C. bankruptcy 

D. estimate 

ANSWER: A 

 

What will B say? A: So the government makes worse economic decisions than the private 

sector. B:…… 

A. Yes, that’s one way to put it. 

B. Yes, this group is right 

ANSWER: A 

 

What is the general …….............……………. of demand for liquid petroleum gas cars? 

A. elasticity 

B. break-even 

C. legal 

D. revenue 

ANSWER: A 

 

The level of gross private …………. was much higher than expected last quarter. 

A. investment 

B. product 

C. rational 

D. incentive 

ANSWER: A 

 

Two major firms have made a tender …….for a complete buyout of TRM. 

A. offer 

B. target 

C. trend 
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D. strategy 

ANSWER: A 

 

Do individuals really have a(n) …….to run an economy well? 

A. incentive 

B. margin 

C. operation 

D. offer 

ANSWER: A 

 

Is the following sentence correct?  Sadie works at the World Trade Organization as an 

economic advisor. 

A. Correct 

B. Incorrect 

ANSWER: A 

 

The CEO said it would be pleased to have OET Trust as its …….company. 

A. parent 

B. plant 

C. policy 

D. term 

ANSWER: A 

 

Many economists believe that public …………… involvement is needed at the moment. 

A. sector 

B. labor 

C. hand 

D. leading 

ANSWER: A 

 

Mark was very experienced in working with ………………market accounts 

A. money 

B. cash 

C. trade 

D. tax 

ANSWER: A 

 

……means a licensed accountant to give advice 

A. CPA 

B. CEO 

C. CFA 

D. CFO 

ANSWER: A 

 

BLK has always offered very good profit ………………to their employees. 

A. sharing 

B. rollover 

C. service 
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D. trading 

ANSWER: A 

 

We promise you that we always have your ………………interests as a top priority. 

A. best 

B. bear 

C. capital 

D. mutual 

ANSWER: A 

 

Advisors must always act on the …….. interests of the clients. 

A. best 

B. advisory 

C. worse 

D. average 

ANSWER: A 

 

Thriva is known as being a ………………investment company. 

A. conservative 

B. financial 

C. moderate 

D. real 

ANSWER: A 

 

Is the following sentence correct? Adele has been working on cash disbursements for the last 

5 years. 

A. No 

B. Yes 

ANSWER: A 

 

If a company is able to operate, it is considered to be a ………………concern. 

A. going 

B. fiduciary 

C. trading 

D. accounting 

ANSWER: A 

 

Advisors suggest an increase in government ……………… to help boost the economy. 

A. spending 

B. deflation 

C. incentive 

D. stimulus 

ANSWER: A 

 

Is the following sentence correct? Do you know what the legal tender is of the following 

countries? 

A. Correct 

B. Incorrect 
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ANSWER: A 

 

Andrew has been investing in the …… market for over ten years. 

A. stock 

B. price 

C. legal tender 

D. demand 

ANSWER: A 

 

Is the following sentence correct? Sophisticated computer software can greatly help with 

pricing management. 

A. Correct 

B. Incorrect 

ANSWER: A 

 

Some clients choose advisory ….. to help make their own decisions. 

A. dealing 

B. broker 

C. trader 

D. advisor 

ANSWER: A 

 

What experience do you have of working in the ….. market? 

A. derivatives 

B. agents 

C. firm 

D. legal tender 

ANSWER: A 

 

Due to the huge loss of demand, there has been an industry-wide ……….........…………. . 

A. downturn 

B. spending 

C. consumption 

D. break-even point 

ANSWER: A 

 

…………means the length of an insurance policy 

A. term 

B. duration 

C. policy 

D. premiums 

ANSWER: A 

 

…………means to make a conclusive decision about something 

A. determine 

B. estimate 

C. protect 

D. term 
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ANSWER: A 

 

Investment companies’ procedures must be in ………………with all regulations. 

A. compliance 

B. procurement 

C. coverage 

D. organization 

ANSWER: A 

 

Is the following sentence correct? The recent drop in sales is due to strategic trend in 

December and January. 

A. Incorrect 

B. Correct 

ANSWER: A 

 

The business consultant advised Greg on which …………............………. structure to choose. 

A. legal 

B. surplus 

C. consumers 

D. downturn 

ANSWER: A 

 

Is the following sentence correct? Each month, we must generate a procurement wages and 

expenses. 

A. No 

B. Yes 

ANSWER: A 

 

…………..is when person agrees to provide something in return for help/favor from another. 

A. Quid pro quo 

B. Fiduciary 

C. Work ethic 

D. Investigation 

ANSWER: A 

 

Our specialists will provide a full risk ……. of your portfolio. 

A. assessment 

B. allocation 

C. tolerance 

D. avoidance 

ANSWER: A 

 

……means to fail to pay a loan 

A. default  

B. profit 

C. quick ratio 

D. detract 

ANSWER: A 
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Is the following sentence correct? We promise to help clients file their taxes correctly. 

A. Yes 

B. No 

ANSWER: A 

 

Is the following sentence correct? Was the level of break-even point ever as high at this 

quarter’s results? 

A. Incorrect 

B. Correct 

ANSWER: A 

 

Economists use the consumer price …….as one of the lead indicators. 

A. index 

B. estimate 

C. factor 

D. rate 

ANSWER: A 

 

Economists predict a recovery from the current economic ……. by early May. 

A. recession 

B. bubble 

C. consumption 

D. spending 

ANSWER: A 

 

….is the illegal act of using insider information and make a profit 

A. Insider trading 

B. Internal trading 

C. External trading 

D. Investment 

ANSWER: A 

 

Is the following sentence correct?  Joel was the CEO of a large multinational agreement based 

in Switzerland. 

A. Incorrect 

B. Correct 

ANSWER: A 

 

There are no charges for …… on our financial services. 

A. commissions 

B. fees 

C. price 

D. tax 

ANSWER: A 

 

…………means the payment to repair something in the event of damage/destruction 

A. cover 
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B. agent 

C. claim 

D. investigation 

ANSWER: A 

 

Do you have any idea what caused the downward …………….............……. in sales? 

A. trend 

B. spending 

C. downturn 

D. elasticity 

ANSWER: A 

 

 

PHẦN TỰ LUẬN (1 câu _ 3 điểm) 

 

Câu hỏi: Is buying a life or health insurance necessary from a young age? Write a 

short essay (150-200 words) to give your opinion. 

 

 

 

 

ĐÁP ÁN PHẦN TỰ LUẬN VÀ THANG ĐIỂM 

 

Phần câu hỏi Nội dung đáp án Thang điểm Ghi chú 

I. Trắc nghiệm 7.0  

Câu 1 – 50  0.14  

II. Tự luận 3.0  

Khía cạnh 1 Cấu trúc đoạn văn 1.0  

Khía cạnh 2 Nội dung phù hợp với đề bài, có sử 

dụng từ vựng đã học 

1.0  

Khía cạnh 3 Ngữ pháp, văn phong, chính tả 1.0  

 Điểm tổng 10.0  

 

  TP. Hồ Chí Minh, ngày 17 tháng 7 năm 2024 

 Người duyệt đề Giảng viên ra đề 

              
HOÀNG HOA SƠN TRÀ     Nguyễn Thị Quỳnh Dung 

 

 

 


